FOR NURSERYMEN ONLY.

"SURPLUS."

** FALL OF 1896. ***

Wholesale Trade List

... of the ...



Telephone No. 551.

Dealers will find our grounds a very convenient place for billing up, being well supplied with city water. The street cars run within four blocks of the office.

We solicit the correspondence of those desiring further information.



ANNOUNCEMENT.

We take pleasure in presenting herewith our Surplus List of Stock for the Fall of 1896, for the consideration of our brother nurserymen and large purchasers, for whom it is intended. We fully appreciate the patronage accorded us in the past, and have perfect confidence in our ability to retain the good-will and patronage of all our former customers. We would respectfully solicit a trial order from those with whom we have never dealt, feeling sure that with our superior methods of grading and packing, we shall be able to please. The high standard to which we grade shall be maintained, and we will continue to exercise due diligence in the forwarding of orders, recognizing the great importance of prompt shipments. We feel assured that the superior quality of our stock and the low rate at which it is offered, together with our careful method of handling and packing, cannot fail to render the purchaser entire satisfaction.

TERMS AND CONDITIONS OF SALE.

We do not reserve the selection of varieties to ourselves, but always give the purchaser his choice, so far as is consistent with our stock, otherwise you are notified.

All claim for errors and deductions must be made within six days after receipt of stock.

Our Guarantee of Genuineness.—While we exercise the greatest diligence and care to have all our trees, etc., true to label, and hold ourselves in readiness, on proper proof, to replace all trees, etc., that may prove untrue to label, free of charge, or refund the amount paid—it is mutually understood and agreed to between the purchaser and ourselves, that our guarantee of genuineness shall in no case make us liable for any sum greater than originally received for such trees, etc., that prove untrue.

Boxing and packing charged as follows:

30×30 inches.	9 to 10 fect,	\$3.00 each.	16 x 16 inches,	8 to 9 fcct,	\$1.50 each.
26 x 26 "	9 to 10 "	2.50 "	16 x 16 inches, 14 x 14 "	8 to 9 "	1.25 "
24 x 24 "	8 to 9 "	2.00 "	12 x 12 "	8 to 9 "	1.00 "

No extra charge for delivering packages at Express Office, Railway Station, or wharf.

Terms of payment must be cash down or satisfactory note for amount of bill, unless with established nurserymen, when, if unknown to us, satisfactory reference will be required before shipment.

NOTICE TO CORRESPONDENTS.

Please do not mix up your orders in the main body of your letter, but write them out plainly and distinctly, each article on a line. This will often save time and errors.

Do not send INDIVIDUAL CHECKS. Send bank drafts on New York, registered letters, or money orders payable at Eric, Pa.

THE PACKING SEASON.

In the Fall we usually begin digging and shipping about the 1st of October and continue until checked by cold weather. In the spring from the 20th of March to the 1st of April, and continue throughout May.

LAKE SHORE NURSERIES,

ERIE. PENNA.

FRUIT DEPARTMENT.

FRUIT DEPARTMENT.						
	APPLE TREES,		Per 10	Per 100	Per 1000	
Standards, first-elas "medium " 3½ to 4 f	s, 5 to 7 ft., 3-in. ar	nd up	\$	\$	\$50.00	
" medium	, 4 to 5 ft., §-in. an	d up,	•••		40.00	
32 10 4,11	., good grade		••• ••••••	••••••	20.00	
	Va	rieties.				
Ben Davis,	Mann,		Salome,	~ .		
Duchess,	Munson Sv Maiden Blu Northern S	veet,	Talman's Wealthy,	Sweet,		
Golden Sweet, Grimes' Golden,	Northern S	Spy,	Walbridge	·,		
TIMENDS	rewaukee,		Wolf Rive	r,		
Hurlbut, Indian,	Trailino.	han,	Winesap, Yellow Tr	ansparen	ıt,	
Keswiek,		,		1	,	
	CRAB APPLES.		Per 10	Per 100	Per 1000	
Standard, first size,	5 to 7 ft 4 to 5 ft		\$	\$	\$50.00	
meumi,			• • •] • • • • • • • • • • • • • • • •		10.00	
		rieties.				
G	len. Grant,	Martha, I	Exectsior,			
PFA	R TREES.—(2 Ye	ar.)	Per 10	Per 100	Per 1000	
Standard, 5 to 7 ft., 4 to 5 ft., 4 ft. med	first-elass, 3 to 4 in		\$	\$	\$ 80.00	
" 4 to 5 ft.,	" & to \(\frac{3}{4} \) in	1			65.00	
" 4 It. med	ium, ½ to § in		[90.00	
	Va.	rieties.				
Bartlett, B. D. Anjou, B. Clairgeau,	E. Harvest, Flemish Beauty, Garber's Hybrid, Goodale, Homer,	Idaho,	\$	Seckel,		
B. D. Anjou,	Flemish Beauty,	Keiffer's,	20 /	Sheldon, Even		
Buerre Easter.	Goodale,	Lawrence,	10,	Vermont	Beauty,	
Bartlett, B. D. Anjou, B. Clairgeau, Buerre Easter, Clapp's Favorite, Duchess de A	Goodale, Homer, Howell,	Lawson, Le Conte,	,	Wilder.		
Dueliess de A,	Howell,	Le Conte,				
I	DWARF PEARS.		Per 10	Per 100	Per 1000	
Dwarf, first-elass, 3	½ to 4½ ft		\$	\$	\$50.00	
Dwarf, first-elass, 3 " medium, 3 t " good grade,	.0 4 It 2 to 3 ft				$\frac{40.00}{30.00}$	
8004 81.000,			,	,		
		rieties.				
B. Lucrative,	Centennial, Dueliess de A, Flemish Beauty, Garbers, Goodale,	Idaho,	Secke	1,		
Bartlett, B. D. Anjou,	Flemish Beauty.	Keiffers,	Vt. Be	eauty,		
B. Clairgeau,	Garbers,	Lawrence,	Wilde	er's Early	7,	
Buffum, Clapp's Favorite,	Garbers, Goodale, Howell,	Osband's Sumn	ner.			
Grapp's Pavorite,	ilowell,		,			
PLUM T	TREES.—(On Plum	Stock.)	Per 10	Per 100	Per 1000	
Standard trees, firs "" goo Abundanee, Arch	t size, 5 to 7 ft		\$	\$	\$110.00	
" med	d grade, 3 to 4 ft				65.00	
Abundanee, Areli	Duke, Burbank,	Satsuma, Fren	ch			
medium,	very fine, 5 to 7 ft. 4 to 5 ft.			12.00		
	Can Vaniation	see next nage				

For Varieties see next page.

Varieties.

Abundance, Arch Duke, Bradshaw, Burbank, Fellenburg, French Prune,	Golden Prune, Imperial Gage, Jefferson, Lombard,		Weaver,	
PLU	JM.—(On Peach Ro	ot.)	Per 10 Per 100	Per 1000
Standard Plums, 3	UM.—(On Peach Ro up, 5 to 7 ft " 4 to 5 ft	•••••	\$\$	\$ 70.00 55.00
		rieties.		
Abundanee, Burbank, Botan,	Bradshaw, Czar, Grand Duke,	Ogon, Prince of Wales, Riehland.	Satsuma, Weaver,	
сне	RRY TREES.—(2 Y	ear.)	Per 10 Per 100	Per 1000
Medium "Good grade "	t size, 5 to 7 ft., swe 4 to 5 ft., " 3½ to 4 ft. " st size, 4½ to 6 ft. sou 3½ to 5 ft., " 3 to 4 ft., "			60.00 50.00
	· Var	ieties.		
	Early Richmond,			1.

Bell Magnifique, Black Tartarian, Dye House,	Early Richmond, Gov. Wood, Knoblock,	Montmorency, Napolean Big, Wragg,	Windsor, Yellow Spanish,
Dye House,	Knobloen,	wragg,	

PEACH TREES.

Our peach trees have given a fine growth the past season and we can furnish trees that will delight you.

	Per 10	Per 100	Per 1000
First-elass, 4 to 6 ft., 9-16 and up	\$	\$	\$55.00
Medium, 3 to 4 ft. 7-16 "			40.00
A good 2 to 3 ft. grade, "Branehed"		• • • • • • • • • • • • • • • • • • • •	30.00

Varieties.

Alexander, Bernards, Champion, Ch. Choice, Crawford Early, Crawford Late, Crosby,	E. Rivers, Elberta, Foster, Gold Drop, Hogan, Hill's Chilli, John Hack,	Keyport White, Lemon Cling, Mountain Rose, Nelson Seedling, Stephen's R. R., Old Mixon Free, Old Mixon Cling,	Smock, Salway, Schumacher, Stump the World, Ward's Late, Wager, Wonderful,
E. Charlotte,	Johnson,		

		APRICOTS.	Per 10	Per 100 Pe	r 1000
On P	lum Roo	ot, 5 to 6 ft., 2 yr 4 to 5 ft	 \$	\$ \$8	30.00
"	66	4 to 5 ft.			55.00
"	"	3 to 4 ft			

Varieties.

Alexander, Catherine, J. L. Bu- Aeme, Gibb, Moorpar Alexis, Golden.				Royal, Russian,	
MULBERRIES.		Per 10	Per 100	Per 1000	
	Gibb, Golden.	Gibb, Moorpark, Golden.	Gibb, Moorpark, Golden.	Gibb, Moorpark, Russ Golden.	

he he	1	1	1
MULBERRIES.	Per 10	Per 100	Per 1000
Downing's Everbearing, 5 to 7 ft	\$	\$25.00 15.00	\$
Russian, 5 to 7 ft			50.00
" 4 to 5 ft			40.00

Grape Vines.

Note.—We have had the most favorable growing season in our twenty-three years' experience, and consequently can give our customers (frape Vines that will be fully up to grade at very low prices.

Varieties.

Per 10	Per 1000	Per 10	Per 100
Agawam, 1 yr.	\$12.00	Jessica, 1 yr	\$75.0
2 yr	. 20.00	2 yr	
Brighton, 1 yr	. 18.00	Jefferson, 1 yr	60.0
2 yr	. 30.00	2 yr	90.0
Catawba, 1 yr	. 10.00	Lady, 1 yr	
2 yr	. 18.00	" 2 yr	35.0
Champion, 1 yr	8.00	Lindley, lyr	13.0
" 2 yr	. 12.00	" 2 yr	20.0
Clinton, 1 yr	6.00	Martha, 1 yr	
" 2 yr	10.00	2 yr	15.00
Concord, I yr., No. 1	8.00	Moore's Early, 1 yr	17.0
" 2 yr., No. 1	12.00	2 yr	28.00
Duchess, 1 yr	15.00	Moore's Diam'd, i yr	25.00
2 yr	22.00	" 2 yr	40.00
Diana, 1 yr	15.00	Massasoit, 1 yr	25.00
" 2 yr	20.00	2 yr	40.00
Delaware, 1 yr	25.00	Moyer, 1 yr.	40.00
" 2 yr	40.00	,,, 2 yr	75.00
Empire State, I yr	15.00	Niagara, 1 yr	10.00
" 1 yr	30.00	2 yr	15.00
Emulean, 1 yr	20.00	Pocklington, 1 yr	12.00
Elvira, 1 yr	10.00	2 yr	
" 2 yr	14.00	Salem, 1 yr	14.00
Hartford, 1 yr	15.00	2 yr	25.00
" 2 yr	22.50	Vergennes, 1 yr	18.00
sabella, 1 yr	8.00	2 yr	35.00
" 2 yr	15.00	Wyoming Red, 1 vr	15.00
ves' Seedling, 1 yr	12.00	" 2 yr	
" 2 yr	18.00	Wilder, 1 yr	20.00
ona, 1 yr	15.00	" 2 yr	30.00
" 2 yr	20.00	Worden, 1 yr	11.00
anesville, 2 yr	30.00	2 yr	17.00
, , , , , , , , , , , , , , , , , , , ,	00.00	4 J + · · · · · · · · · · · · · · · · · ·	11.00

One Year Old No. 2 Vines, two-thirds the price of One Year No. 1.

Buy your grape vines direct from the grower and you will get vines true to name and grade.

FRUITS.—Continued.

currants.	. Per 10	Per 100	Per 1000
Black Naples, 1 yr	\$		\$18.00
(6 6) 3779			25.00
Charry 1 yr			$20.00 \\ 27.00$
		************	22.00
Fayle Prolific 1 vr.			30.00
(6 9 Ur			18.00
Lee's Prolifie, 1 yr			25.00
(6 1) 1771			18.00
White Grape, 1 yr			25.00
La Versailles, 2 yr			25.00
Red Dutch, 2 yr.			25.00
London Market 1 yr			20.00
Long Branch Holland, 1 yr			25.00
GOOSEBERRIES.			00.50
Houghton Seedling, 1 yr			22.50
			30.00
Downing Seedling, 1 yr			35.00 45.00
Downing Seedling, 1 yr			40.00
		-	
RASPBERRIES.			
BLACK CAPS.			1 20
Gregg, Ohio, Souhegan, Palmer and Winona			4.50
Honking			7.00
Kansas			10.00
1,617,045			
BLACKBERRIES.			
ROOT CUTTINGS.			
Early Harvest, Kittattinny, Snyder	1		8.00
Taylor's Prolific and Angient Briton			10.00
Taylor's Prolific and Ancient Briton			15.00
The and Egyptian mag		1	
STRAWBERRIES.			
We grow the Strawberry expressly for the plant, and can guarantee them Pure and of the Best Quality. Roots will be well straightened and tied in bunches of 25 each.			
The following Prices are for Plants after Oct. 1st.			
			2.50
Crescent			$\frac{2.75}{2.75}$
Haverland, Michel's Early			3.50
Bubach, Miami, Shuster and Yale Greenville			4.00
Erie		1.00	6.00
Effe			
ASPARAGUS.			
Conover's Colossal, 1 yr			2.00
2 Vr			. 2.50
Barr's Mammoth and Palmetto, 1 yr			2.25
" Z Vr			2.75
Donald's Elmira, 1 yr., new and very fine			3.50
" 2 yr			. 5,00
RHUBARB.			
Linneas (very fine, divided from young plants)			. 18.00
Limited (very fine, divided from Jourg plants)			-

FRUITS.—Continued.

BUFFALO BERRY.	Per 10	Per 100	Per 1000
12 to 18 in	\$	\$10.00	\$
NUTS.			
American Sweet Chestnuts, 5 to 7 ft		10.00 8.00	
Walnut, English, 4 to 5 ft.		12.00	
Butternut, 8 to 10 ft		8.00 6.00	
0.00 0.10	***********	0.00	

Ornamental Department.

		 -
DECIDUOUS TREES.	Per 10	Per 100
Oak leaf Ash, 8 to 9 ft	\$	\$15.00
Gold Leaf Alder, 4 to 5 ft		12 00
Ach Furancen Wooning 7 to 8 ft		30.00
Ash, European Weeping, 1 to 0 1t		15.00
Ash, European Weeping, 7 to 8 ft		12.00
Biren, Cut-leaved, 4 to 5 it		15.00
" Purple Leaf		
Catalpa Speciosa, 8 to 10 ft	***********	12.00
" 6 to 8 ft		8.00
Birch, Common, 5 to 7 ft		6.00
Horse Chestnut, 6 to 8 ft		25.00
" 5 to 6 ft		18.00
" 4 to 5 ft		15.00
Laburnum, 3 to 4 ft		12.00
Magnolia, Tripetella, 5 to 7 ft		10.00
Maple Norway 6 to 8 ft		15.00
Maple, Norway, 6 to 8 ft		20.00
" Purple Leaved, 6 to 8 ft		
" " 8 to 10 ft		25.00
0 to 10 ft	•••••	7.00
Maple Silver, 6 to 8 ft		
U UU IU IV		10.00
		14.00
" Sugar or Rock, 8 to 10 ft Syeamore, 6 to 8 ft	• • • • • • • • • • • • • • • • • • • •	6.00
" Syeamore, 6 to 8 ft	• • • • • • • • • • • • • • • • • • • •	10.00
" 8 to 10 ft		18.00
" Weirs' Cut Leaf, 6 to 8 ft		15.00
" 8 to 10 ft		20.00
Ash, European, 8 to 10 ft. "Weeping, 6 to 8 ft.		12.00
"Weeping, 6 to 8 ft		15.00
Poplar, Carolina, 8 to 10 ft		10.00
Poplar, Carolina, 8 to 10 ft		8.00
" 8 to 10 ft		10.00
" Gold Leaf, 8 to 10 ft		15.00
Tulip Tree, 6 to 8 ft		10.00
Tump Tree, 6 to 6 10		10.00
DECIDUOUS SHRUBS.		
DEGIDOGOS STIKODS.		
Althea, named colors, double, 2 to 3 ft		10.00
Variorated loaf		10.00
" Variegated leaf	2.50	10.00
Dophomy Durnle logged 2 to 4 ft	0.00	6.00
Berberry, Purple-leaved, 3 to 4 ft		7.00
Deutzia, Crenata, fl. pl., 2 to 3 ft	• • • • • • • • • • • • • • • • • • • •	7.00
" Candissima, 2 to 3 ft		7.00
	ł	

	1	
DECIDUOUS SHRUBS.—Continued.	Per 10	Per 100
Fringe, Purple, tree form, 4 to 5 ft	\$	\$ 8.00
" White, " 3 to 4 ft		8.00
Filbert, Purple-leaved, 2 to 3 ft		10.00
Forsythia, 2 to 3 ft Strawberry Tree	••••••	
Lilac, White and Purple, 2 to 3 ft.		10.00
Lilac, White and Purple, 2 to 3 ft		8.00
"Japan, 3 to 4 ft		15.00
Privet, Calfornia, 2 to 3 ft		5.00 3.00
" 8 to 12 in Spircas (in variety), 2 to 3 ft	• • • • • • • • • • • • • • • • • • • •	6.00
"Golden-leaved, 2 to 3 ft		6.00
Syringa (Mock Orange), 2 to 3 ft		6.00
"Aurea, Golden-leaved, 18 to 24 in		8.00
Viburnum (Snowball), common, 18 to 24 in	9.00	10.00
" Plicatum (Japan Snowball), 12 to 18 in Weigelia (in variety), 2 to 3 ft " Variegated-leaved, 2 to 3 ft	2.00	7.00
"Variegated-leaved, 2 to 3 ft.		7.00
Crandall Currant.		6.00
•		
EVERGREENS,		
Arbor Vitæ, American, 15 to 18 in		3.50
" 2 to 3 ft		10.00
" Siberian, 18 to 24 in		15.00
Cypress (Retinosporo), Filifera, 6 to 8 in		15.00 15.00
Fir, Fraserii, 12 to 18 in.		12.00
" Nordmaniana, 18 to 24 in.		20.00
" Pectonata (Silver), 12 to 18 in		10.00
Juniper, 1rish, 18 to 24 in		18.00
" Mungo, 2 to 3 ft	• • • • • • • • • • • • • • • • • • • •	$12.00 \\ 12.00$
" Stone, 2 to 3 ft	***********	15.00
" Scotch, 2 to 3 ft		
Spruce, Norway, 2½ to 3 ft.		10.00
5 10 4 II		12.00
** ** ** ** ** ** ** ** ** ** ** ** **		$10.00 \\ 12.00$
201) 22.82.00.10.10.10.10.10.10.10.10.10.10.10.10.		12,00
ROSES.		
Hybrid Perpetual and Moss		8,00
Climbing		7.00
RHODODENDRONS.—Assorted Colors.		
		00.00
// // // ^^		60.00 75.00
BULBS.		
Gladiolus, mixed sorts		2.50
Gold Band Lily		10 00
		2.50

Orders for Trees by the Car-Load may be packed in bulk at great saving of time and expense of boxing. We ship in bulk, east, west and south, and other distant points, and the trees arrive in perfect order.